
	Ex. 21 – THE LOOP


AIM: To fly a 360( turn in the vertical plane during which the wings are kept laterally level. The aircraft should remain in balance and a positive load factor (which varies in amount) be applied throughout.

AIRMANSHIP: Lookout, HASELL and Limitations
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FLIGHT EXERCISE
(1) Safety checks completed and area cleared. Select a reference line feature. Final lookout. Accelerate to the entry airspeed and maintain balance whilst keeping the wings level.

(2) At 130 Kt a firm pull back on the control column will be needed. Keep the wings level and the aircraft in balance.

(3) As the nose passes through the horizon re-check that the wings are level. As the speed decrease a progressive backward movement of the control column will be required. The direction of rudder pressure to maintain balance will change due to the change in yaw as the airspeed rapidly lowers.

(4) Use a wing tip reference feature on the horizon to maintain direction.

(5) As the aircraft approaches the top of the loop, gentle pressures and control movements must be made because of the low airspeed.

(6) Look up and back to search for the horizon. Then check that the wings are laterally level.

(7) When the nose is below the horizon, reduce the power and ease off the back pressure to ensure a constant rate of pitch when pulling through the vertical. A change in rudder pressure to maintain balance should be anticipated at this stage.

(8) Re-identify the selected line feature and amend the aircraft’s heading as necessary.

(9) Continue to pull through at a constant rate of pitch and ease from the dive into a climb. As the speed reduces gradually increase to cruising power and return to level flight.
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